
Spinner Probabilities (A)Calculate the probability of each spin.

P(>11) = P(≤11) = 
P(5) = P(≤1) = 
P(≥1) = P(>5) = 
P(≥9) = P(>10) = 
P(≤8) = P(>10) = 
P(<12) = P(<7) = 
P(6) = P(<11) = Math-Drills.Com
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Spinner Probabilities (A) AnswersCalculate the probability of each spin.

P(>11) = 1/10 P(≤11) = 9/101/10 9/10P(5) = 0/10 P(≤1) = 1/100 1/10P(≥1) = 10/10 P(>5) = 4/101 2/5P(≥9) = 2/10 P(>10) = 1/101/5 1/10P(≤8) = 8/10 P(>10) = 1/104/5 1/10P(<12) = 9/10 P(<7) = 6/109/10 3/5P(6) = 0/10 P(<11) = 9/100 9/10Math-Drills.Com

1010
33

88

77
22 33

11

33

44
1212


